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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

3500 ! I | I I

| —¢  EcFzExp

3000 4 —>— ECdef

—>— water_ec

2500 :

2000

1500

1000

Warning: col [ EcFgro’, 'EcPltng ]iis missing

2 % 2 0 X 2 X X 2

500

0 25 50 75 100 125 150 175
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Plot Sensor and FgRec Data
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-4 0
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08:50 278 150.0 [ =| {Ri%e08:50 B (FRAEESE)
09:45 278 150.0 (& =| {Ri%e09:45 Bz (REAERESE)
10:30 278 150.0 & =| 1Ri%@10:30 Bzh (kAEREE)
11:10 278 150. 0 =l Rig011:10 B3 (GRAEESE)
11:50 278 150.0 =l {Rige11:50 B3 (RAERSE)
12:30 278 150.0 =l RRiB012:30 B (REAKEE)
13:10 278 150.0 5| 1Ri%e13:10 B (RAEREE)
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2it]3892.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRGERL145. 0 ml.

BEREBIEC (2535.0) S5iTEEC (2000.0) HEILKA, BFHE

[B;&%EC 5355.0 K&, EIFHKECAEZIREER

# B KECE (2535.0 vs 5355.0) 15
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ET (ml/hr/plant)

P3-4_0, Day=51 (2025-05-19)
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P3-4

Byia) | EEBEETIC (7)) | EBE (BAH/HK) | XK R

07:25 278 150.0 BS| {Ri%e07:25 Bz (RS
08:00 278 150.0 [Z=| 1BRi%@08:00 Bzh (KHEERESE)
09:45 278 150.0 & =| 1Ri%@09:45 Bzh (KRAHEREE)
11:10 278 150.0 =l RiBe11:10 Bz (REAKEE)
12:30 278 150.0 E BRige12:30 Bz (GRAERESE)
13:50 278 150.0 |Z=| 1Ri%@13:50 Bzh (RAHEREE)
14:45 278 150.0 (& =| 1BRige@14:45 Bzh (REERESE)
=it+11946.0 (7:%) 1050. 0 3ZHKEC: 2080.0, PH: 6.0

FEREHERE STEELRF (179.0

ERIASSPRIERL145.0 ml.

i# 8] /KECZE (2665. 0 vs 5465.0) T 5

145.0), AIEEHT—@E XAH5

FEREERBEC (2665.0) 5i&EEC (2000.0) RERK, BHE
[B;&REC 5465.0 K5, EiNF{KECAR&MRER
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ET (ml/hr/plant)

P3-4_0, Day=50 (2025-05-18)
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P3-4

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:45 278 150.0 (Z=| {Ri%@07:45 Bz (REAHEHSR)
08:10 278 150.0 [ =| 1BRi&e08:10 Bzh (REERESE)
08:35 278 150.0 [Z=| {Ri%e08:35 Bz (KA
09:45 278 150.0 (Z=| {Ri%009:45 B (REAHERESE)
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12:50 278 150. 0 E BRige12:50 Bz (GRAERESE)
13:40 278 150.0 5| {Ri%e13:40 B3 (RAERSE)
14:25 278 150.0 5| Rike14:25 Bz (REAERS)
15:05 278 150. 0 E BRi&e15:05 Bzl (GRAERESE)
16:00 278 150. 0 El BRi&e16:00 Bz (GRAEREE)
23t+]3058.0 (11%) 1650. 0 3 3HKEC: 2080.0, PH: 6.0

HERRHEME S TEAERTS (179.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRGERL145. 0 ml.

BEREBIEC (2660.0) 5i¥TEEC (2000.0) HEILKA, BFHE

[B]/&EC 5815.0 K5, EINF{KECAE&AEERR

H#E[ERECE (2660. 0 vs 5815.0) 03



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=49 (2025-05-17)
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